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Let nth term of series is 1+ = + 2.8 there
6 S =n N
\I ¢ are 20 terms in series then sum of series
QO —(' _%_'if{_'_+%qu‘ is equal to the following.
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Numbers 2, 4, 6, 8, 10....... 196,198,200

are multiplied together. The number of
QXWG?\%X I0X. ... 200 zeros at the end of the product on the

right will be equation to?
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If in a three-digit number the hundred

NY<Z digit is double then the one’s digit place
=RZ and sum of all the digits is 18. After

revising the order of the digit, the new

')(mz-;_m number is 396 less than the given number.

if 7¢_is the original number than find
AF  |oontioyt+z. qcy X523
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The remainder when

10".(10" +1)(10™ + 2) is divided by 6 is:
10 10 10

J@  10°°.(10" +1)(10° +2) # § & &

R Srar § ar ¢ gom?
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The first twenty natural no. from 1 to 20
are written next to each other to form a
31-digit number.
N=1234567891011121314151617181920
What is the remainder when this no. is
divided by 167

qgel 20 YHfaF &A1 § 20 9F UF F 309

UF F& fad@l Il ¢ Sad 31 3h g

aadl & 1234567891011121314151617181920
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If a, b, c are three natural numbers in A.P
such that at+b+c=21 then the possible

number of values of a,b,c is?

Ife a,b,c T TAF TEAX § ST AP A & 4T

2 atb+c 2B @ a,b,c ¥ WG AW gAr?
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How many numbers between -11 and 11

are multiples of 2 or 3?
— =4l 11 3R 11 & &= et geaw 2 71 3 #i

(® «—2 ____,@ N 11 db”“/

@ & 3—s @ S (c) 15 (d) None of these
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The multiplication of a three digits

A la 5 numbers xyg with digit z yield x 215 what
X ol ‘%. x+y+z equal to?
’l%\i 3 HW#MKySWHZ#WW
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If N2-33, N2-31. and Nq-'-29 are prime

2 0 numbers, then what is the number of
N"gg}l\f:@bN -'2j

possible values of N where N is an integer.

\L ,L l gf¢ N2-33, N2-31. 3X N2-29 ¥HT &I ¢
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The seven-digit number 876p 37q is
divisible by 225. The values of p and q can

be respectwely F g 4y o WO
| ms‘r T gE&AT 37ep37q 225 ¥ fsnfaa &

o Iy



Let x and y be +ve integer such that x>y
the expression 3x+2y and 2x+3y when
divided by S5 leave remainder 2 and 3

respectively. What is remainder when (x-y)
is divided by 5?
A 9T x IRy W uareds Ui & &
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What is the remainder when the

D _ 5 number 44444444 js divided by 9?
I ey  4444%4445) Sq 9 F HIT feIm Sar @t AvRe
F -1 FIT RI?
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If the sum of the digits of a number

lo'Vl___ s 10°-1, where n is a natural number, is

‘ equal to 3798 the what is the value of n?
\9?_-;\{‘3 R et wear 10— & 3 &1 anr ot &
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§°"'"—’°|‘1°l 3798 & ST § n FT AT FIT NP
." (a) 421 br22
'0___'___>e' g 9 (c) 423 \“:{2—“) 424

i 'V\.h-n.m ! ﬂXhﬁ-W—



If the number 23p62971335 is divisible

by the smallest odd composite number
then what is the value 6f p? > ;E

0 £¢ ¥ fReanfoa & & p 1 A F7 @2 "
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The numbers 3798125p369 is divisible
by 7. What is the value of digit p?
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x| When a positive number of a, b and ¢

o ¢7"‘ ~Ny_ are divided by 13 the remainders are 9, 7
— 2_ N and 10 respectively what will be the
e {%

\\1 remainder when (a+2b+5c) is divided by

1> 13?
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If the 7-digit number x8942y4 is
divisible by 56. What is the value of (x2+y)
for the lar-g-ETvalue of y, where x and y are
natural numbers?

I x89 42y4 U& VH! 7 IH& A HEAT § A
56 A Ry g Ay & We® a3 79 & fav

(x2+y) FT A 1 §? 61 x Ay W HEAC
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Find the product of all value of x if 517
x 232 is divisible by 12?

9{7(19\%7/_ =3 fe 517x232v&a 12 ¥ RGa g x &
G gl AR FY aom X F e
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| (a) 24 28
Y j __._3} (c) 27 (d) None of these

? 3

XUt~ 23




b= GXQ '\‘Q_
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In division sum, the divisor is 4 times
the questions and twice the remainder if a
and b are respectively the divisor and
dividend the?
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The least +ve integer that should be

BOI I (3°||"H) subtracted fm:m 3011><:'3012
so that the difference is a perfect square
3011x3012H & F & ~AdA U YU
HerAT ST f& e qot 7
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T T Lem Iithe 119;25; cor:r:on multiple of two
numbers, an is 5184, w_q_w

’ -:ers K 5 |3Y many values of K are posmble"c,\ %‘t\
L l afy & wEama, 1728 3R k # Fee-arm—mmmm
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lon+M = ‘2(‘)& - A two-digit number is obtained by either
(D *{é w 5 multiplying thes’\digi{‘s by 8 and then

2 Q'X"‘?"g:- < -@ subtracting 5 or by multiplying the
A difference of the digits by 16 and then

lD"(.-}‘g = |.6(')(-\‘1)+?‘> adding 3. Find the number oﬁ)\ Y
Co| wammﬁm*m#mm
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lon4y = 6(U+Y)+3

,Omxd—lg_-:]our,-g

9 0y) =R 2

A two-digit number is 3 more than six
times the sum of its digits if 18 is added
to number obtained by

interchanging the digits we get the
original number find the number ?
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The students of a class are made to stand
W'qmﬂ"! in rows if 3 students are extra is a row,

no - 0/ Shudeuwf umavouthere would be 1 row less. If three students
\3~ are less in a row there would be 2 rows

more. Find the number of students in the
W = N% ass.
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